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It is obvious! This one is a son and this one is not a son?!

OVERVIEW

The X723 presented a case where two sons inherited their father’s estate, and one
took all the money and the other took all the land (the two were of equal value).
The rule is if their father’s creditor came and confiscated the field;1 the son that
inherited the field is to be compensated (half) by the son who inherited the money.
The X723 challenges that this ruling is obvious; both sons bear equally the
responsibility of repaying their father’s debt. m»o1n challenges this assumption of
XD WD,

mMooIn asks:
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And if you will say; and why is it so obvious to the x»3 that the loss is on both sons
equally -
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For »Xw will shortly rule (in a case where the two sons divided the estate) that
when the creditor comes and takes the portion of one of the sons for his debt;

that son relinquished his rights, and cannot claim compensation from his brother. We derive
from that ruling that the responsibility (of repaying the father’s debt) does not lie equally on both
brothers. Rather, from whomever the creditor collects, he alone suffers the loss and not the other
brother. Why then is the X723 here so certain that the one brother must be compensated for his
loss by the other brother.

N1B0IN answers:
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And one can say; that it is only specifically when the brothers divided ¥pap,
does ®Xmw maintain that he relinquished his rights; for when they divided the

land, both brother were equally in doubt, one as much as the other, as to whom the

creditor will collect from -
- Y1099 oY M7 1‘,7511 12 NyT Yy

" The 1"va can only collect from the ¥1p, but not from the (03) 1"2u%un of the @mn>.

? See “Thinking it over’.

3 See following 7701 1"7 mdon [TIE footnote # 1]. See 7"»X here.

* They did not explicitly request a guarantee of compensation; therefore they are willing to take the risk of losing
their property.
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And it was with this understanding that they divided the property; that

whoever will lose, will lose, and he has no recourse -
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However here where one inherited money and the other land, where only the
owner of the land is in jeopardy of losing his land, but not the owner of the
money; he is in no jeopardy al all, for the movable assets (including money) of

orphans are not indentured to the creditor; the creditor cannot collect from the
P2u%un, only from the ypap, therefore -
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It is obvious that they divided the estate in this manner with the intention that if
the landowner will lose his land to a creditor, that he will have the recourse to
return and be compensated by the money owner,

SUMMARY

When the sons inherited property, then whosever property is taken away by their
father’s creditor, suffers the loss. However where one son inherited land and the
other money, the landowner must be compensated by his brother, if the land is
confiscated by their father’s creditor.

THINKING IT OVER

mooin challenges the Xu*wd of the X »x from the ruling of xmw.” Why did not
mMoon ask how can the X773 say Xu ws (that he needs to be compensated), when the
"IMRT XX says the exact opposite (that he is not to be compensated)?!

3 R, D°MoD.

% The son, who agreed to take the land, obviously did so with this implicit understanding that he will not suffer the
loss due to the n"v2 by himself. Otherwise he never would have agreed to such an arrangement where he alone
stands to lose.

7 See footnote # 2.
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